S s A — ik =R - — AR DEP
REOHK | FER |(KELRK |FE|REOR| FER |[KESK|Fe|REORK| BFER ii wE| RER - & BER ii i
1 &8 1 Ef B 2,000/ 2
2 4% 500 21 (2 %% 500 AES =% 1,500 2
3k 500/ 2|15 || 3% 500/ 2% FEX 1,500Mm| 10|&
2 = 2 BB 14 1,000 6|Z%
2 % 500 2 2 % 500 2| | 2 5% 1,000M| 6|4 |2 1,000M| 2|7
3 % 500 1 3k 500 1% | 3%% 800| 6|7 || 3% 800M| 2|7
4 % 500 1 4 % 500 1[5 |4 %% 800M| 4|4 | 4% 800M| 2|H
5 % 500 1 5 & 500 1% |5 %% 800M| 4|5 5%k goom| 1|8
6 &% 500 (&l Tt 6 % 500 |arcs | i3 800 1
AR 500 |&i<s R 500 |&ir T |#F e +1,000M
B + 500 e + 500 FEER 3,000/
RBRIL 0 0 FIIEa A IEROBETH - T H AT HIR fff iﬁj s
EROE 1S 2 ABELISTER




